16, 20, 24, 28, 32, 36
20, 25, 30, 35, 40, 45

6, 12, 18, 24, 30, 36



« 8, 12, 15, 16, 20, 24, 27, 28, 32



e 6*5=30( urp.)



e 30:5=6 (urp.)



« 30:6=5(kop.)



6*6=36
6*7=42
6*8=48
6*9=54

176=42
8*6=48
9*6=54

36:6=6
42:6=7
48:.6=8
54:6=9

42:7=6
48:8=6
54:9=6



1B. 2B.

6 14 46 1 39 4
0O 42 14 0O 42 O



1B. 2B.
Ne4(1 ctonouk+ Ne4(2 ctonbuk+2
1 BbIp B 3 cTONOUKE) BbIp. B 3 CTONOUKe)



1) 6*7=42(py0O.)
2) 3*8=24(pyb.)
3) 42+24=66(py0O.)
OTBeT:. 66 pybnew.



6*7+3*8=66(py0.)
OTBeT: 66 pyonen.



/3. Ne6, 9 c. 17, yuntb Tabnuuy Ha 6.



